
C

NOTE GUIDEVANE
ORIENTATION

SEE NOTE 1

HOLES TO BE DRILLED
ON ASSEMBLY. SEE 
NOTE 7. 

BA

D

D

K

K

NOTE GUIDEVANE
ORIENTATION

HOLES TO BE DRILLED
ON ASSEMBLY. SEE 
NOTE 7. 

ISOMETRIC VIEW
SCALE 1:50

DETAIL B
SCALE 1 : 5

15 11 18
2

SEE NOTE 1

14 10 17
2

171014
2

SEE NOTE 1

6

DETAIL A
SCALE 1 : 5

14 10 17
2

SEE NOTE 1

DETAIL C
SCALE 1 : 5

14 10 17
2

SEE NOTE 1

SECTION D-D
SCALE 1 : 5

(OTHER COMPONENTS REMOVED
FOR CLARITY)

5 NOTE BONDED INSERTS
BONDED ON THIS SIDE

12 19 9 16

SEE NOTE 2

12 19 9 16

24 LOCTITE 278 MR-C-001-119
23 PLEXUS MA310 MR-C-001-118
22 LOCTITE SI 5926 MR-C-001-117
21 M16 DOWTY WASHER 24 MR-C-001-131-001
20 M16 BONDED INSERT 48 ST. STL. 316 MR-C-001-133
19 M10 BONDED INSERT 240 ST. STL. 316 MR-C-001-132
18 M20 NUT 6 ST. STL. GR A2 MR-C-001-090-005
17 M16 NUT 882 ST. STL. GR A2 MR-C-001-090-004
16 M10 NUT 240 ST. STL. GR A2 MR-C-001-090-002
15 M20 X 55 HEX HD BOLT 6 ST. STL. GR A2-70 MR-C-001-093-006
14 M16 X 50 HEX HD BOLT 882 ST. STL. GR A2-70 MR-C-001-093-007
13 M16 X 45 SKT HD CAPSCREW 48 ST. STL. GR A2-70 MR-C-001-091-004
12 M10 X 325 STUD 240 ST. STL. GR A2-70 MR-C-001-114
11 M20 WASHER 12 ST. STL. GR A2 MR-C-001-089-005
10 M16 WASHER 1764 ST. STL. GR A2 MR-C-001-089-004
9 M10 X 50 DIA WASHER 240 ST. STL. GR A2 MR-C-001-115-001
8 CHAMBER SIDE DUCT PLATE 1 MR-C-001-036
7 GEN SIDE DUCT PLATE 1 MR-C-001-034
6 TIP SUPPORT RING 1 MR-1-001-029
5 GUIDE VANE 120 MR-C-001-027
4 GENERATOR SIDE INNER DUCT 6 MR-C-001-024
3 GENERATOR SIDE OUTER DUCT 6 MR-C-001-023
2 CHAMBER SIDE INNER DUCT 6 MR-C-001-022
1 CHAMBER SIDE OUTER DUCT 6 MR-C-001-021
A DUCT ASSEMBLY MR-A-001-020

ITM DESCRIPTION No. OFF MATL. & SPEC. STANDARD No. LEVEL ©  Dresser-Rand.  All rights reserved.

UNLESS OTHERWISES SPECIFIED. ALL DIMENSIONS ARE IN
MM.
UNLESS OTHERWISE SPECIFIED, REMOVE ALL BURRS AND
SHARP CORNERS TO MAX. 1.0 MM RAD OR CHAMFER. 
COUNTER SINK TAPPED HOLES TO BODY SIZE.

TOLERANCE LIMITS UNLESS OTHERWISE SPECIFIED

TYPE 150mm AND Below ABOVE 150mm

MACHINING

FABRICATION

ANGULARITY

+/- 0.5mm

+/- 0.5mm

+/- 1.0mm

+/- 1.0mm

+/- 1 +/- 1

View Projection

APPROVED: DATE:

DATE:CHECKED:

DATE:

SHEET 1 OF 3WT:

DWG NO.REF:SIZE

A0

TITLE:

FRAME DATA:

SCALE:

LL

KK

JJ

II

HH

GG

FF

EE

DD

CC

BB

AA

16

16

15

15

14

14

13

13

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

LL

KK

JJ

II

HH

GG

FF

EE

DD

CC

BB

AA

16

16

15

15

14

14

13

13

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

REV:

02

1

NOTICE: THIS DRAWING CONTAINS
CONFIDENTIAL AND TRADE SECRET
INFORMATION, IS THE PROPERTY
OF DRESSER-RAND COMPANY, AND
IS PROVIDED TO THE RECEIVER
IN CONFIDENCE. THE RECEIVER
BY RETENTION OF THE DRAWING
AGREES TO TREAT THE DRAWING
AND THE INFORMATION THEREIN
AS SECRET AND CONFIDENTIAL
AND UPON DEMAND TO RETURN
THE DRAWING AND ALL COPIES
THEREOF IN ANY FORM.

DRAWN:

REVISION HISTORY
ZONE REV DESCRIPTION DATE APP

DUCT ASSEMBLY

MR-A-001-020

RADIAL HAT 1.65D

1:20

A.E
K.O

R.H
M.K

S.N
J.A.M

26 FEB 16

26 FEB 16

26 FEB 16

01 NOTE 7 ESTIMATED MASS AMENDED. PART No's FOR ITM
19, 20 & 21 ADDED. 10MAR16 RH

02
DUCT SEGMENTS NOW 60  NOT 180  SECTIONS (FOR ORIGINAL 
ASSEMBLYSEE MR-A-001-141. BOM QTY'S FOR ITMS 1,2,3,4,10,14,
16, 17 & 21 CHANGED. NOTE 7 UPDATED, NOTE 7 NOW 8. VIEWS 
K, L & M ADDED.SHT 3 ADDED. ESTIMATED MASS UPDATED. 

3MAY16 RH



E

E

F

F

G

VIEW ON ARROW E-E
SCALE 1 : 20

HOLES TO BE DRILLED
ON ASSEMBLY. SEE 
NOTE 7. 

H

VIEW ON ARROW F-F
SCALE 1 : 20

HOLES TO BE DRILLED
ON ASSEMBLY. SEE 
NOTE 7. 

Y

Y

DETAIL G
SCALE 1 : 5

SECTION Y-Y
SCALE 1 : 2

7

20 13

SEE NOTES 
1 & 3

J

J

DETAIL H
SCALE 1 : 5

SECTION J-J
SCALE 1 : 2

SEE NOTES 
1 & 3

8

20 21 13

NOTES;

APPLY ITEM 22 LOCTITE SI 5926 LIQUID GASKET TO MATING FLANGES. ENSURE BOTH SURFACES ARE1.
CLEAN AND FREE FROM GREASE AND OTHER CONTAMINANTS.

TYPICAL GUIDE VANE CONFIGURATION. THIS ALSO APPLIES TO GENERATOR SIDE GUIDE VANES. ON 2.
ASSEMBLY GUIDE VANES TO BE BOLTED IN PLACE AND ITEM 19 M10 BONDED INSERTS TO BE BONDED USING 
ITEM 22 PLEXUS MA310 IN ACCORDACE TO MANUFACTURERS INSTRUCTIONS.  

ON ASSEMBLY HOLES FOR BOTH THE CHAMBER SIDE AND GENERATOR SIDE DUCT PLATES TO 3.
BE DRILLED. DUCT PLATES TO BE CLAMPED IN CORRECT POSITION AND ORIENTATION ENSURING 
CONCENTRITY AND 18mm CLEARANCE HOLES DRILLED USING DUCT PLATES AS TEMPLATES.

DUCT PLATES TO BE BOLTED IN PLACE USING ITEM 20 M16 BONDED INSERTS AND BONDED  USING ITEM 23
PLEXUS MA310 IN ACCORDANCE TO MANUFACTURERS INSTRUCTIONS.

ON FINAL ASSEMBLY APPLY ITEM 22 LOCTITE SI5926 LIQUID GASKET TO MATING FLANGES.

ON ASSEMBLY CLAMP DUCT SECTIONS TOGETHER ENSURING CONCENTRICITY AND MINIMISING 4.
STEPS AT JOINTS, USE HOLES IN MAIN FLANGE TO DRILL 18mm CLEARANCE HOLES IN CORRESPONDING FLANGE

APPLY ITEM 24 LOCTITE 278 ON FINAL ASSEMBLY TO ALL FASTENERS UNLESS OTHERWISE STATED.5.

TORQUE ALL FASTENERS ACCORDING TO TORQUE VALUES GIVEN IN TABLE UNLESS OTHERWISE STATED. THIS6.
VALUE TAKES ACCOUNT OF THE LUBRICATION PROVIDED BY ITEM 24 LOCTITE 278.

FASTENERS TO BE TIGHTENED WITH LOW RPM'S ONLY WITHOUT INTERUPTION TO LIMIT THE RISK OF GALLING.

FOR SPECIFIC INFORMATION ON HOLES TO BE DRILLED SEE INDIVIDUAL DUCT DRAWINGS ITMS 1 THROUGH 4.7.
ONLY ONE CHAMBER SIDE OUTER DUCT SEGMENT (ITM 1) TO HAVE RTD HOLE DRILLED. 

ALL BORES WALLS TO BE SEALED AFTER DRILLING TO STOP WAER INGRESS WITH A PROPRIETARY SEALER.

APPROX MASS (DUE TO VARIATIONS IN DUCTS ALL MASS ARE APPROXIMATE);8.

CHAMBER SIDE INNER DUCT;  160KG 
CHAMBER SIDE OUTER DUCT; 175KG 
GENERATOR SIDE INNER DUCTS; 155KG 
GENERATOR SIDE OUTER DUCTS; 142KG 
GUIDE VANE; 2.4KG

CHAMBER SIDE DUCT PLATE; 43KG
GENERATOR SIDE DUCT PLATE; 40KG
TIP SUPPORT RING; 55KG

CHAMBER SIDE INNER DUCTS INCLUDING FASTENERS AND BONDED INSERTS; 1000KG
CHAMBER SIDE OUTER DUCTS INCLUDING FASTENERS; 1090KG

GENERATOR SIDE OUTER DUCTS INCLUDING FASTENERS; 890KG
GENERATOR SIDE INNER DUCTS INCLUDING FASTENERS; 1000KG

CHAMBER SIDE DUCT ASSY (INCLUDING GUIDE VANE, DUCT PLATE AND FASTENERS); 2300KG
GENERATOR SIDE DUCT ASSY (INCLUDING GUIDE VANE, DUCT PLATE AND FASTENERS); 2100KG

TOTAL INCLUDING TIP SUPPORT RING AND FASTENERS; 4472KG

THREAD SIZE TORQUE VALUE 
(Nm)

M10 35
M16 145
M20 333

© 2012 Dresser-Rand.  All rights reserved.---- NOTICE ----
THIS DOCUMENT CONTAINS CONFIDENTIAL AND TRADE SECRET

INFORMATION AND IS THE PROPERTY OF DRESSER-RAND
COMPANY AND IS PROVIDED TO THE RECEIVER IN CONFIDENCE

SHEET 2 OF 3WT:

DWG NO.REF:SIZE

A0

TITLE:

FRAME DATA:

SCALE:

LL

KK

JJ

II

HH

GG

FF

EE

DD

CC

BB

AA

16

16

15

15

14

14

13

13

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

LL

KK

JJ

II

HH

GG

FF

EE

DD

CC

BB

AA

16

16

15

15

14

14

13

13

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

REV:

02

1

RADIAL HAT 1.65D

DUCT ASSEMBLY

MR-A-001-020
1:20



L

M

SECTION K-K
SCALE 1 : 20

DETAIL L
SCALE 1 : 5

HOLE TO BE DRILLED
ON ASSEMBLY.
SEE NOTE 7

HOLE TO BE DRILLED
ON ASSEMBLY.
SEE NOTE 7

HOLE TO BE DRILLED
ON ASSEMBLY.
SEE NOTE 7

HOLE TO BE DRILLED
ON ASSEMBLY.
SEE NOTE 7

DETAIL M
SCALE 1 : 5

1 RTD HOLE TO BE DRILLED
ON ASSEMBLY IN  **1 .
CHAMBER SIDE OUTER DUCT 
ONLY**. SEE NOTE 7.

© 2012 Dresser-Rand.  All rights reserved.---- NOTICE ----
THIS DOCUMENT CONTAINS CONFIDENTIAL AND TRADE SECRET

INFORMATION AND IS THE PROPERTY OF DRESSER-RAND
COMPANY AND IS PROVIDED TO THE RECEIVER IN CONFIDENCE

SHEET 3 OF 3WT:

DWG NO.REF:SIZE

A0

TITLE:

FRAME DATA:

SCALE:

LL

KK

JJ

II

HH

GG

FF

EE

DD

CC

BB

AA

16

16

15

15

14

14

13

13

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

LL

KK

JJ

II

HH

GG

FF

EE

DD

CC

BB

AA

16

16

15

15

14

14

13

13

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

REV:

02

1

1:20

MR-A-001-020

DUCT ASSEMBLY

RADIAL HAT 1.65D


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5
	Detail View B (1 : 5)
	Detail View A (1 : 5)
	Detail View C (1 : 5)
	Section View D-D

	Sheet2
	Drawing View10
	Section View E-E
	Section View F-F
	Detail View G (1 : 5)
	Section View Y-Y
	Detail View H (1 : 5)
	Section View J-J

	Sheet3
	Section View K-K
	Detail View L (1 : 5)
	Detail View M (1 : 5)


